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Solve an Equation with One Radical

Solve algebraically Vvx+1 + 3=5 - then check by graphin
1 -sisolate the radical +/x+1 = 5-3 H

Vx+1l = 2

A
|9V

2 -rsquare both sides ( x+1)2 = 2

x+l = 4 *CHECK FOR
EXTRANEOUS
. o O

3 -rsolve x=3
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Tr'y: a) 3+3x+4=7 b) 2Jx+6 = -4
c) -8+ 3?})=—2 d) r=-~5-r=-7
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@REEZN) Example 3

Solve an Equation with Two Radicals
Solve Vx+2 + /3x-2 =0 - then check by graphing.

1s+isolate the radicals on each side of = sign

AVx+2 = —4/3x-2

2 -nsquare both sides
(Vx+2)" = (~V3x-2)

x+2 = 3x-2

3 -rsolve
- *CHECK FOR
2x = -4 o EXTRANEOUS
x=2° °

2 does not check out - the solution is NO SOLUTION
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Try:
a) 2y-3=y+l b) J19+6x =+2x-5
7/_/\4_ ¢) 7+ \3x =5x+4 +5 d) 3Jx-2=2x+3

Solve by Graphing
Calculator ONLY!
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%Some more difficult questions you will come across.

Find the perimeter:

245 +43

W2 -1

32

Find the area:

V30
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